AUTO-HAK Sp. Z o.0.
ul. Stoneczna 16K 76-200 SLUPSK

POLAND

tel/fax +48 59 8 414 414; +48 59 8 414 413
e-mail: office@autohak.com.pl

AUTO-HAKX

www.autohak.com.pl

AUTO

KIA SORENTO (+facelift)
MQ4 MY, +Hybrid

09.2020 —» 2024
2024 =—>

D 130kN

>
J S=100kg

E20-55R-02 6096
% R=2500 kg

09.2020 — 2024

M8 M10

Mi12 M14

M16

24 48

83 132

200

.- 4 “"c'gj =
Sruba
sruba Nm M6
klasa 8.8 9,9
klasa 10.9 14

117 185

285

34 67
0 K =—p

O 1000 km

2024 —>




o N
NN N O T (v~ (T < © N~ |F|O(F ||
X| X[ x| X[ x| X[ x| X X X | X[ X[ X| X[ X[ X[ X[ %
\I/_IQ\I/ /N
9 NMEENEERY
5 MmO X O|l< O
O x OO o x o o
M) @) ~ ©
5OOQ55O1N1N6.N >
Nl — (M S Als O O z
XXXXXA.ZX/@\X@\M@\ 422 =)
N[N N[N[O] x| X[ o 0 M| N[O |O
=1 = = = ) =3 ) I SR b Sl £ SER (o) R SY A SYRSHRSE =3 =3 =3 =
oo SN2 9 = 5 1R2IRININIRISG|S

&

Y

!

x1 &
x1
Art.nr-KL1T84

P S

3]

oy

Art.nr-BL1T84

TN\

x1

x1
x1

¥

&

N

5]
6
7]

x1 @

S







08 2x ﬁ M12x1,25x35mm

2x & 212,2mm

Ix M12x1,25x35mm &

Ix @ 212.2mm )g
1x @37x213x3mm

\ —
\ Q

10 2X ﬁ M6x20mm

4% (Q) o18x26.4x1,6mm

2x ﬁ M12x1,25x35mm
2x @ 212,2mm

2x 237x213x3mm

1x ﬁ M12x1,25x35mm

Ix @ 212,2mm

1x 237x213x3mm

11

1x @ - -
@ otimn o

1x @ M8 piNoss) @’@

&




230,5x210,5x2,5mm

2x (&) 10,2mm

2x

2x M10

M10x35mm

M12x50mm

if

1x




21

2x 213mm
2x @ 212,2mm

2x @ M2

-10 -



	Strona 1
	Strona 2
	Strona 3
	Strona 4
	Strona 5
	Strona 6
	Strona 7
	Strona 8
	Strona 9
	Strona 10

